How much is a gamble worth?

Here’s a simple but typical choice problem.

You are offered a gamble or lottery:

You have a 50% chance of winning $1, 

and a 50% chance of winning nothing.

How much should you pay to play this gamble?

Suppose Translink checks often enough so that the chance of being checked is 10%. To maximize money, should you pay the fare or not?

	
	States of the World
	

	Acts
	get caught
	not get caught

	Don’t pay skytrain fare
	costs -$173
	0

	Pay fare
	costs -$2.75
	costs -$2.75


The Prisoner’s Dilemma

	
	Column Player
	

	Row Player
	C
	D

	C
	 2, 2
	 0, 3

	D
	 3, 0
	 1, 1


Rules of the Game:

1. If Row chooses  C and Column chooses C, each player gets 2 cookies.

2. If Row chooses C and Column chooses D, Row gets nothing and Column gets 3 cookies.

Etc.

What should the players do?
Consider the simplified map of Romania below. Numbers correspond to travel times. Consider the following choices.

1. To go from Rimnicu Vilcea to Craivo:

a. RV – Pitesti – Craiova, or

b. RV- Craiova?

2. To go from Oradea to Craiova:

a. Go via Arad-Sibiu-…, or 

b. Go via Sibui, or

c. Go via Arad-Timisoara-….?
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Figure 1
